
Quiz 4 Solutions

1. Evaluate the definite integral: ∫ π/4

0

tan(θ) sec6(θ)dθ.

Solution: The powers of tan(θ) and sec(θ) are such that we could either use u = tan(θ) or
u = sec(θ). However, since we just have one copy of tan(θ), the computation will be simpler with
u = sec(θ) and du = sec(θ) tan(θ)dθ since we won’t need to use trig identities. So, we have
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2. Evaluate the definite integral: ∫ 3/4

0
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9 + 16x2
dx

Solution: We first factor out 1
9
, and then use u-substitution with u = 4x
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and du = 4dx
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